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Part A: Grammar and Vocabulary
Choase the best answer to each question.
-—----- 4 dentist, Mike is very concerned about having healthy teeth.
1) As 2)Heis 3) Thatheis 4) Because being
The habit of skipping breakfast to lose weight actually --—--—- weight gain.
1) encouraging 2) encourages 3) to encourage 4} is encouraged
This brand of TV is quite inferior -—--e-we that one.
1)to 2} over 3} from 4) than
Map reading is a skill which is «~--~---- through practice.
1) confirmed 2) operated 3) acquired 4} stretched
The new employee is a(n) =--=aeun to the company.
1) asset 2) dispute 3) proposal 4) ancestor
He finally got the reward he so richly -------, '
1) owes 2) earns 3} justifies 4) deserves
Her performance was ----—-- affected by the behavior of the crowd and was not satisfactory.
1} secretly 2) sincerely 3) adversely 4) punctually
During the shortage we were told to —----- water.
1) grasp 2) contain 3) generate 4) conserve
Part B: Cloze Test
Chaoose the answer that best completes each blank.

The first London to Brighton run (9) —--—- place on November 14th, 1896. It was organized to
celebrate the passing of a law (10) ——--—- made it easier for cars in Britain to be driven on the roads.
Before then, the law (11) -—-- a driver and an engineer in the car and a man walking in front of the
vehicle (12) - a red flag warning of its approach.

1) had 2) took 3) held 4) made
1) it 2) which 3) which it 4) it was
1) forced 2) obliged 3) requested 4) required
1)} on 2) aleng 3) with 4) through

Part C: Reading Comprehension

Read the following passage and answer the questions.

There are two main types of concrete dams: arch dams and gravity dams. Arch dams are tall,
curved shells of concrete that can be as little as 3 meters thick. Their arched shape gives them great
strength, Large gravity dams are also made of concrete, but it is their vast weight that prevents them
from bursting. ‘

The largest dams are embankment dams, which are made by piling up a huge barrier of earth and
rock. A core of clay or concrete in the middle keeps water from seeping through the dam. The side is
covered with stones to protect it from water. Rogunsky Dam in Russia is the world’s highest dam. It is
325 meters high. Hoover Dam, one of the world’s highest concrete dams, measures 221 meters in
height. It is an arch dam that spans the Colorado River and supplies water for irrigation and
electricity to California, Arizona, and Nevada.

The core of clay in the center of an embankment dam serves to ---------

1) support the structure 2) hold the sides together
3) prevent water seepage 4) form the shape of the dam
According to the passage, the water supplied from Hoover Dam is used for ---—ce-—-,

1) strength and support  2) electricity and support 3) protection and irrigation 4} irrigation and electricity
It can be inferred from the passage that gravity dams differ from arch dams in that gravity dams are

1) thicker than arch dams 2) not as strong as arch dams -
3) not as attractive as arch dams 4) made of a different material than arch dams
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Vocabulary

Directions: In this section, choose the item which is best related to the illustrations provided in
questions 16-20.

1)} Partition wall
2) Curtain wall
3) Bearing wall
4) Retaining wall

1} Nosing
2} Flight
3) Tread
4) Riser

1) Downspout
2) Leader head
3) Gutter

4) Scupper .

1) False front
2) Portico

3) Porch

4) Forecourt

1) Clinker
2) Stretcher
3) Header
4) Soldier

Reading Comperehension
Directions: In this section you will read two passages. Each one is followed by five questions
about the text, For questions 21-30, you are to choose the best answer to each question, marked

(1), (2), (3), and (4).
Passage 1

The spatial requirements of a cemetery would hardly resemble those of an amusement park.
We come to the amusement park for a laugh, for a shock, for a change, for relief and escape from
ordered routine. We want to be fooled, and we delight in confusion and distorted, ridiculous
shapes ... . How different are the spatial requirements of a cemetery! Here we would expect the
volumes to be serenely monumental, spacious, and beautiful. We would expect the enveloping
enclosure to provide protection and imply detached seclusion.
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According to the first sentence of the passage, the spatial requirements of a cemetery are:

1) hard to identify 2) hardly different from those of an amusement park
3) different from those of an amusement park  4) similar to those of an amusement park

Which of the following is not the reason why people go to an amusement park for?

1) A laugh 2) A change

3) An escape from ordered routine 4) A relief from ridiculous shapes
The term “ delight in confusion”, in line 3 is referred to as:

1) a wonderful type of confusion 2} a light in confusion

3} an exhausting type of confusion 4) an annoying type of confusion
What is not included in the characteristics of a cemetery?

1) Beautiful 2) Spacious 3) Monumental 4) Confusing
What is the meaning of the term “ seclusion” in the last sentence?

1) Isolation 2) Division ' 3) Provision 4) Inhibition
Passage 2

Sequence, in terms of planning, may be defined as a succession of perceptions having
continuity. Sequences have no meaning except as we experience them. Conversely, all experience
is sequential. In nature, sequences are casual and free. Sometimes, but not always, they are
progressive. Such a progression may be one of ascent, as in the experience of climbing from
lowland to mountain peak; or one of direction, as westward from the central plains across the
desert, over the mountains, through the valleys, and to the ocean; or one moving inward, from
the sunlit edges of a forest to its deep, shadowy interior; or a progression of enclosure, complexity,
intensity, convenience, or comprehension.

According to the text, “ sequences” may be defined as:

1) a comprehensive term in nature 2) a succession of perceptions

3) *“ meaningless” in terms of experiences ~ 4) a succession of perversions
Sequences in nature are:

1) sometimes progressive 2) limited

3) westward experience 4) always progressive

The term “ ascent” in line 4 is closest in meaning to:

1) racing 2) rising 3) cleansing 4) entailing

How does the author explain the inward progression in nature?

1) By the experience of one moving from the sunlit edges of a forest to its deep interior
2) By the progression from complexity to intensity

3) By the progression of one moving from central plains across the desert

4) By the shadowy interior of a sunlit edge of a deep experience

What is the main purpose of the passage?

1) To introduce the experiences of one moving from lowland to mountain peak

2) To discuss about the experiences in nature

3) To define the term “ progression” in nature

4) To explain the meaning of “ sequences” based on experiences in‘thenature slaisla yib ays
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